
WELLAND GOULDSMITH SCHOOL 
CLASS- 3 

SUBJECT- ARITHMETIC 

CHAPTERS - PLACE VALUE (WRITE IN WORDS AND FIGURES, EXPANDED FORM, PUT THE 

CORRECT SIGN, ASCENDING AND DESCENDING ORDER) 

ADDITION AND SUBTRACTION SUMS WITH PROBLEMS. 

  

REVISION WORKSHEET 

 
1.  a) Write in words: 

 
i. 555 – 
ii. 2,933 – 
iii. 3,1210 – 
iv. 4,3125 – 
v. 5,2999 – 

    
   b) Write in figures: 

i. nine hundred and seventy – one                                 - 
ii. eight hundred and eight                                               - 
iii. one thousand three hundred and sixty – two               - 
iv.  three thousand two hundred and seven                     - 
v. four thousand one hundred and twenty – five             - 

 
2. Write in the expanded form: 

i. 2,739 = ______ + ______ + ______ + ______ 
ii. 7,998 = ______ + ______ + ______ + ______ 
iii.    627 = ______ + ______ + ______ 
iv.    739 = ______ + ______ + ______ 
v. 3,216 = ______ + ______ + ______ + ______ 

 
3. Put the correct sign (<,>, or =) 

i. 2450 ____ 2670 
ii. 1932 ____ 734 
iii.   568 ____ 129 
iv.     75 ____ 57 
v. 1000 ____ 1000 

 
4. a) Write in ascending order: 

i. 557, 553, 608, 504               ____, ____, ____, ____ 
ii. 253, 399, 111, 102               ____, ____, ____, ____ 
iii. 310, 210, 410, 110               ____, ____, ____, ____ 
iv. 1326, 1263, 1361, 1163       ____, ____, ____, ____ 
v. 2508, 2108, 2408, 2208       ____, ____, ____, ____ 

 
b)  Write in descending order: 

i. 991, 2111, 999, 2199            ____, ____, ____, ____ 
ii. 595, 559, 959, 995                ____, ____, ____, ____ 
iii. 1375, 375, 3175, 1553          ____, ____, ____, ____ 
iv. 450, 345, 430, 350                ____, ____, ____, ____ 
v. 1265, 2675, 1752, 2151        ____, ____, ____, ____ 

 
5. Solve the following sums: 
    Add 

a)  H. T. O                 b)   Th. H. T. O 
6   6   3                         1   3  3   6 

  +    2  7   7                   +    4   5   9  4 
 

 
   Subtract 

c)  H. T. O                d)  Th. H. T. O 
6   6   7                      6    0   0  3 

-  4   4   8               -      2    9   7  9 



 
 
6. Solve the problems: 
 

a) Manish has 2136 books, Sheila has 1341 books. How many books do they have altogether? 
 
b) Nisha had 2056 stamps. She gave away 397 stamps to her friend. How many stamps are left with her now?  

 

 
 
_______________________________________________________________________________________   


